= O = o .
& 5 R i i% BHENRTYMN— LGS LIRED
RE4 FHI0EE HSORLEBRESEERFANRTIYMR—ILREBHR2XTES
# B 2019% 1H 13H((H)
& 42 M) LX—=9HN gD
BF HERB
26 — 20 19 — 18
22 — 23 8 — 18
dkE 116 34 — 10 67 =) o 43 10 — 17 76 EHEE
34 — 14 6 — 23
BF R BF SHLRTEE
40 - 11 18 — 9
31 — 12 18 — 14
Je = 120 20 — 19 54 {EHBEZE RE 76 22 — 13 54 =hA
29 — 12 18 — 18
| BRRE EEIE  2ffEHRE 6L ES 4 5% |
TF ERB
40 — 7 6 — 16
36 — 9 19 — 20
B 151 36 — 10 34 e {ZB&ZF 65 17 — 20 67 wRHEE
39 — 8 23 — 11
TF R ZF SELRTEE
34 — 16 15 — 24
20 — 9 8 — 20
B 104 30 — 12 55 f{EHEEE B 47 14 — 21 87 —BLF
20 — 18 10 — 22

. SRR B EF  2f . BHEE 3L ICEBRF A EE |

22R—2



£ O =
A8 '% R & ﬁ BHENRTYMR—ILIBS TLHRED
K& FRHI0EE FES50ELEMBTEERFANRTIVMNI—ILAEBHR2RTES
# H: 20194 18 12H (L)
=2 15 NUNNACEY 1\ Vi)
BF 1[EE
[ 27 — 14 ] 16 — 9 |
21 — 21 19 — 11
JepE 107 23 — 13 60 =% B 68 16 — 8 42 ¥
| 3% — 12 | | 17— 14
[ 9 — 30 | [ 20 — 30 |
14 — 19 20 — 12
KA 57 10 — 25 88 =] B 70 12 — 19 80 EHMEE
| 24 — 14 | | 18— 19 |
ZF 1[O)E;
39 — 5 38 — 12
31 — 8 35 — 10
3 136 34 — 6 27 (=N CBRF 121 22 — 8 34 FIIK
32 — 8 26 — 4
4 — 32 7 — 25
6 — 9 12 — 35
e 32 17 — 4 65 RS =i 37 8 — 30 117 f&8HEEE
5 — 20 10 — 27

12—



